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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-III
Examination of the Four/Five-Year Degree Course, 2019-2020

1 SEMESTER-I
CROP IMPROVEMENT-I (KHARIF CROPS)
(GPB-311)

Time : 2 Hours

Section—-I :10
Maximum Marks : 70
Section—I1: 60

' ‘ Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
' only the English version be taken as correct.
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SECTION -1
gusg -1
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and Would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square
given against each sub-question. (10%0.5=5)
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(i)  Oldest method of crop improvement is

(1) Pedigree method

(2) Plant introduction
(3) Backcross method
(4) Pureline selection.
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(i)  Genetic constitution of pureline is

(1) Homogeneous and heterozygous
(2) Heterogeneous and homozygous
(3) Homogeneous and homozygous
(4) Heterogeneous and heterozygous.
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(3) WH®Y Td §HYH
@) ey wd fawmgmi
(iii) Diploid chromosome number in Rice crop is :
(1) 2n=12
2) 2n=24
3) 2n=36
(4) 2n = 48.
e ¥ fife Rt w5 en @
(1) 2n=12
2) 2n=24
(3) 2n=36
(4) 2n=4838.
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(iv)
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v)

(vi)

In three line system of hybridization which line is called as male sterile line?
(1) B line

(2) A line

(3) R line

(4) Both A and B line.
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Pollination type of sorghum crop is
(1) Self pollinated

(2) Cross pollinated

(3) Often cross pollinated

(4) Both self and cross pollinated.
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Which breeding method is not associated to handling of regregating populations in
plants?

(1) Pedigree method

(2) Bulk method

(3) Mass selection method
(4) Backcross method.
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(1) Fumae fafy

(2 = fafy

(3) w2 TR W w99 fafy

(4) vvEEEw fafy

18/000/(1,080/C-474 5 [PT.0.




_ WWWEERISAENN]

(vii) The term Ideotype was given by l:
(1) Donald
(2) Shull
(3) Johannsen
(4) Fischer.
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(3) WAEA TR
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(viii) Which type of mutagen was used for the development of Jagannath variety.
of Rice? ]
(1) Gamma-rays
(2) X-rays
(3) Acridine dye
(4) EMS.
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(1) T fafeo

(2) X-fafEwo

(3) EE =
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(ix) Isolation distance used for Maize foundation seed production is : :
(1) 400 m '
(2) 200 m
(3) 100 m
4 50 m
e § PR A S @ g s g wlh o ¥
(1) 400 HX
(2) 200 HX
(3) 100 HiR
4) 50 #e
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